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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

ELECTIVE COURSE : ECONOMICS 

EEC-011 : FUNDAMENTALS OF ECONOMICS 

Time : 3 Hours] 	 [Maximum : Marks : 100 

Note: Attempt questions from all the sections as per 

instructions given in each section. 

Section-A 

Attempt any two  questions from this section. 
2x2=40 

1. What do you understand by the term 'Consumer's 
equilibrium'? Explain with illustration the 
Consumer's equilibrium in terms of ordinal utility 
theory. 

2. (i) What is income elasticity of Demand? How 
would you classify the goods on the basis of 
income elasticity of demand? 

(ii) Given Q=400-8P+0.05Y where P=15 and 
Y=12,000, find the income elasticity of 
demand 

3 	What is National Income? Show with illustration 
how production flow, income flow and expenditure 
flow are related to each other. 

4. 	How is pure competition different from perfect 
competition? Explain how does a competitive firm 
attain equilibrium in short run and long run period? 
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Section-B 

Attempt any three questions from this section in 
about 250 words each. 	 3x10=30 

5. Distinguish between long run cost curves and 
short run cost curves. State the reason for U 
shape of the short run average cost curves. 

6. 

	

	Give an account of the factors that explain 
differentials in wage earnings. 

7. 	What is money market? Explain the process of 
attaining equilibrium in money market. 

8. 	Distinguish between Demand pull inflation and 
cost push inflation. Give an account of the factors 
causing supply side inflation. 

9. 	Discuss the classical approach to quantity theory 
of money. 

Section-C 
Attempt all the questions from this section. 

2x15=30 
10. 	Distinguish between any three  of the following: 

(i) Dependant variable and independant 
variable 

(ii) Variable cost and fixed cost 
(iii) Consumption and investment 
(iv) Economic growth and economic 

development 
(v) Increase in demand and extension of 

demand 
11. 	Explain any three  of the following: 

(i) Investment multiplier 
(ii) General equilibrium 
(iii) Positive economics 
(iv) Transfer earnings 
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